AN BB M X M X i A A b R R 2
FHEBTAR KRR R S FREE ER KRR F X T &S

b —BER (5 F)

Efe KPR E AR (—R) AKpikE LB = FF344H23H (&) ~25R (H) SRESARERELRKE
E [ 1 24 3{ir afir 5{i% 6 74 8{ir
iH2an AP 100m | FH HEA3) 10.98 Il FR(3) 11.08 [ TEHE) 11.47 |l Ff(2) LL.55HER [H(3) 11.56| g 5% —ER@3) 11.58|"A HHH(3) 11.62| ATL 8 K(3) 11.66
23 AKFT KR B AKFETL SRl KR SRl KFE— KR B
A2 AP 7200m | R HEA(3) 22.10|H L HR(3) 22.32| ¥ FI((2) 22.64 |5 HEFH(2) 22.67| ¥ TLHE2) 23.00| M A% —HR(3) 23.26|B8 1 HEKR(2) 23.41|80K A 3) 23.89
16 KT KR B ik ] KR K AKF T SRl KF T KFREH
. W H(3) 52.11 |k 22(2) 53.15 3N % #(3) 53.97|H M H2EF3) 54.27| =VHF AIKQ2) 54.95[85 K {240 (3) 55.49 [#E%F 5 H (3) 55.84 |1 /K H#HEL(3) 56.06
4H23H R F-400m o o . o o .
ik [i] AKFE L AKFE L AKF— KL U SRLEL] PeFn KA —
T T T TG 1:58.54 |8 FEHU(3) L:68.71 AR 1L il (2) 2:00.32| &% Ak(3) 2:00.40| T4 K (1) 2:06.08| 4 A (2) 2:08.60 [if] - #5FH(3) 2:13.03| A1l A H@3) 2:15.54
KIK K Kk AKF T AFT KT ik ] KR B
wnon| s seom | N BAG) 4:01.33|JFB i h(2) 4:03.96[#15] K—(2) 4:06.35|# % M 1A (2) 4:16.72 |8 1ERE) 4:17.48| T4 K1) 4:19.05| /& Ze4h(1) 4:19.93 /K JlIa(2) 4:20.52
K3 K ik ] K2 ik i AFET KA K2
inssn|  AEmnrsoon | E EHRE) 15:20.40|[ R8I A2 15:21L.74[f 3 #K@B) 15:42.11[ILfE & H(3) 15:50.13]#851 A—(2) 16:08.01 {8 fi:#4(2) 16:30.52 [ A®G) 16:32.37| KJI[ HHHR(3) 16:41.61
AKFT KT AKFETL K ik ] KT sk ] ik ]
. 1?(;:;%;*_55';;) [T =I0) 16.18|# H #(©) 16.88[Ht 4 BE(3) 17.21 R ZE9%(3) 17.27| 9548 KHE(2) 17.67| 75 HEAE(2) 18.07| {6 HERE®) 18.36 5511 Hi2(1) 19.21
JB:-1.3 KET KR B Kk KR WK KR B J¥5 T KF T
A 24 AKX T F- R HAE®B) 55.41(#E%F 5 H (3) 58.42|Mikf 22(2) 59.01 (/A FREM) 1:01.37| 911 ki (2) 1:01.51 | TF{% KHR(2) 1:02.92|E#w FEF(3) 1:04.65 |10 fi{£i(3) 1:07.66
400mH(0.914m) ki efn AF L k] k] FHER i A L. K
A 24E ARHLK 5 7 a1 ) 9:37.63 |1 L 14 (3) 10:06.06 [JLIE A W1(2) 10:07.24| A #%34(3) 10:22.81|Fi)ll 4HE(3) 10:31.91 S F-A FERF(2) 10:32.49 (1L 38/A(2) 10:41.13 |7 fEKR(©2) 11:00.38
3000mSC(0.914m) KIK KT 2R Kk ik ] K — KT AKFT AKFT
T T — .m% JE(3) 30:01.13 éﬂyj — k(1) 32:03.58 w? HEE(1) 39:53.91
KFE— KA L SRRN
KA T 43.41 | 44.83 | H K 44.89 /K F i 44.95 7K 7 — 45.17 |k 45.50 | #=Fn 45.72 | /K FREW 46.58
HAR HB) B Q) RE A 2) AN SRR M B (2) RE Q) I ek (2) B AF(2)
AH23H | ATHEIRT TAX100mR | FH HEA(3) R AER®3) ¥7= {R(Q) TR F—BE(3) s EHG) Hedn BE(3) KRk Hidg(3) A A G)
BRI HERQ) I (2) Frh SR 2R2) 1LlsE k(2) B K@) JNBFSE (3) IR ER(2) FEM Z23(3)
B TIHER) HER MAE®G) F—HI) 2 FENQR) K BR®B) R 5—0) Fars 20 EF3)
k] 3:28.41| K P T. 3:30.70| K7 — 3:34.69| K F R HL 3:36.82| 7K Ik 3:39.17| Hr#E K 3:41.43| RN 3:43.67| K Ik 3:50.09
JEM AiAE®G) PRE 246 Feas AEHEE) JEA A=(2) R i) &1 () IR ER(2) Pl A 8 (3)
AH25H | ATHERT TAX400mR | - AKFH(3) ik 22(2) B SME3) Il A E®B) Ml KA B) ¥7= ftR(Q) HaB A G) WH FIREG)
il THL3) il TEa©) B K@) EWOHEER) BEm 5—(3) AR AEQ) T E—3) I GEER(3)
W ) =M AIK(2) K ) AL fER®B) M4 BE(3) AL i (2) I AOR@) Mg JERQ)
HEH 5EQ) 1m85|/INtL HxEE(1) Im80|ga A 1&3H(2) 1m70 AE FIRQ) 1m65 | % FLII(2) Im65 |2 F @ AL(3) 1m60
K — J¥5 T J¥5 T KR KF— RI
af2an | KRS T B @) 1m70
AKFL
AR ED(G) 1m70
KFE L
P HHOWEME) 6m82(+4. D[FEM MiAB)  6m42(+2.8)|EH M A (Q2) 6m37(+0.3)[#EH FHAB)  5m8IC+1.8)| %k AER(3)  SmS8TGHE.L)|MiH WER(2)  5m8T(+2.7)|K'E HA(2)  5m86(+1.3)| K EAME(R)  5m82(+2.1)
KR ZAFR6m6T(+1.3)| ik ] AFR5mI5(+1.)| K F KL B TRIR kS ZATESMS6(+2.0)| ZK I AFEMTTLD)| F 8 R K — AF5ME5(+1.3)
inosn| g py  |PS0 PAMEQ) 12m85(+1.8)|F I %:(2) 12m44(+2.0)|SF" #AL(3)  12m34G+1.0) (M HER(2)  12m24(+14) | 5E(B) 12m22(+2. DA H£HHG)  12m16(+1.0) [k HEAER)  1Im66(+1 DAL BH%©) 11m25(+1.3)
KA — KRB SRRN 7K AKF— ZATB12mI8(+1.8)| K — KA L 1 Fn
WAaap|  RTHKE TR AR BHRG) 14m06 | AR #i2H(3) 13m36| Kt #E2H(3) 10m83|5EPE  F52H(1) 8mI6 |k b5 A(3) 8m50| JiE #5(1) 8m02 | i KA (3) Tmb9|Hi 7 FE—(2) 7m39
(6.000kg) KFEL KK KE K3 KR B R 5 KR B AET
afosp|  ARTHIK TR IR #Hisk(3) 37Tm67 | R HEH(3) 32m36 | AR FHE(3) 31m98 (AR H Jr(2) 20m27 [ KEs #KERQ) 20m02 [{iT 5 B (3) 19mO7 |MFE#£ % Hesk(1) 17m57 | HK HE—(2) 16m11
(1.750kg) K KT KA T KRR AKFT KFRE] KA T L&
Afiasp| ATHIEB A ERR THEE3) 30m34 | #iE R (D) 23m26 | EtE 74 (3) 1Tm79| KA HELEQ) 13m21|HA wERE2) 12m76
(6.000kg) KA T KA T ki kAT k]
LH2ER| AR o000 19?% K @3) 53m00 7&% HE2H(3) 52m51 | FEH J(3) 46mO3| KA A 45m56 k@ it (3) 35m37 ;Az%iﬁ Q) 32m38 m}j #(2) 29m94 )Juﬁ%jzf(l) 28m93
KR B Sl Kk AFT KR B KR B KF— Rk
S HALR) 36325 |F 7= R (©2) 36275 | Frid S 2F2) 31234 | AT SR#f(2) 2824 5 | ek FRAE(3) 266548 | FH] H(3) 1768
4)12243“[\ I T R KA T (2PN (2PN KT KFE T 71(?&32 )
~ 11.61(+2.5)-5m92(+3.6)-Tm56-56.74 |11.58(+2.5)-5m27(+1.6)-7Tm43-53.62 [11.89(+2.5)-5m56(+2.6)-7m36-58.23 |12.35(+2.5)-3m48(+1.1)-7Tm35-58.31 [12.18(+2.5)-2m64(+1.2)-Tm65-1:02.96|11.51(+2.5)-NM-9m88-1:29.48
20.97(-1.0)-26m09-1m53-5:05.34 |18.60(-1.0)-38m28-1m53-6:24.65 [21.69(-1.0)-19m72-1m50-5:34.38 [21.68(-1.0)-19m91-1m40-4:51.94 [19.75(-1.0)-29m21-1m53-5:53.99 |DNF(-1.0)-46m69-NM-DNF
SRR KB TR A KA T 20045 | Ak 934 | ok ] 9143 [ KR 8345 [ AT — 58,1 | K77 2 [ 415 KR 394 AR K 31

JLBI GR:R 23506k DNFRFASERE NMFdkiL




TN AR B 3 DO X i AR b Bk

HEBTAEKBIRE SERRE EEH R DA TR TR EfrE&—ER (kF)
Efe KF K E AR (—R) AKpibe LB = FF34E4H 23R (&) ~25H (H) CREBHAERE RS
F ] [ 2fir 34 i 5{i 6{i i 8{i
A 24 K HEX £ F100m 1L &Y 72(3) 13.20 |6 FIAEQ) 13.23| )\ 25(3) 13.31 & KF©2) 134755 FF5(3) 13.52| R Q) 13.64 |/t @ped7a(3) 13.68 |18 fE R (2) 13.75
0.9 KFE= KR B K I WK KFE Kk SRl
4250 K7 H X 42 F-200m ILE &Y 72(3) 27.60 /Mt @sb7a(3) 27.93| A A©2) 27.96|4WE FEAA(3) 28.24(fe 0 ¥ H(©2) 28.55| 150 18(2) 28.75 IR <HA(2) 28.99| K7 Wk (2) 30.21
19 KFE= K3 KA HER KR SRl Sl K
w23n|  AkrmEaaom | TR BISRG) 1:04.12 7% EF#(2) 1:04.52 |18 FIE2) 1:04.82( 8% FiZ(2) 1:05.39 [/t s> 72(3) 1:06.23 | UG BEF(2) 1:07.05|fRA ZZA(3) 1:07.38 | [ #E4<(3) 1:08.14
KPS KFE KR B KF— K% K= =i eFn
4f24R K £ F-800m A FE7203) 2:23.20 ("B EEL(2) 2:25.26| #2111 P& (2) 2:26.73[# % iz (©2) 2:28.09| TH% K#K(3) 2:30.43| ¢ ZUFE(3) 2:37.34| Kl AA2) 2:38.15|"F& Wp7e(2) 2:42.26
K% K% K% KF— ik ] KR B K SRl
wiosn|  AkFmEerson |2 B 4:48.35| TR 2R (2) 4:53.34 |1 £1% O15(3) 4:55.78|#n AR J5(1) 4:58.63| iy FEB() 5:04. 11| THE RAEES) 5:11.65| L EEH() 5:16.93| ik FUHE) 5:21.05
KF = 7Kk K% K3k KE ok il KE KR
ahash| AR 4 F3000m e ZEQ2) 10:11.05 |11 #(3) 10:13.90 [{iE#i% 01 5(3) 10:25.13|f5 1 {EEI(3) 10:37.78 |5 M ELE(3) 10:44.53 |3 {(1#(3) 11:07.7L|[fH4 FLEk(©2) 11:23.75|Ea)1 #323) 11:46.00
KIK AKF= Kk AKFE Kk KFE K KFE—
. lﬁoi;‘ﬂ&f&f‘) WA #A3) 16.19[ )\ 5 2%(3) 16.32] Mt #5H(2) 16.83|/he B (3) 17.46] % A 7i53%(3) 17.89 A AmER) 19.74[ P 51 (2) 20.02|fRE #H+3) 20.60
i +3.6 KR B Sl KE= KE= K ik ] KE= RI
A 24 K HK £ T N BETE(3) 1:10.40 | & F53E(3) 1:12.68| kAL f5HE(2) 1:13.53| &7k FLH(Q) 1:14.77|HriE A (2) 1:15.09| A& ZZA(3) 1:15. 11| Fn%n Eme(2) 1:16.75|FAH  ZDY(2) 1:17.01
400mH(0.762m) KF= KFE RS KFE= SRl KE= PeFn KFE RI
4230 | AF IR A F5000mW fii”'j FraE3) 28:24.84 ﬁ# KEQ) 29:33.54 Ef #1(3) 33:34.10
KT ik ] KT
KRG 51.60 |7k FRx /L 51.84 |7k = 52.37 K F 52.59 [ H &K 53.66| K7 — 53.69 | = Fn 54.49 | Kk 55.11
N EEQB) FEIN BREL(3) AL ) KA HRHI2) g 3EHR(3) gk EWLQ2) PEEF G EQ2) R FEFBER)
4230 | AT TAX100mR RS FREE3) g MAER) [y meF(2) A A (2) E=r A 6)) W B4G) WA Z2203) BH Zo02)
R <5H7(2) H b RAEREG) N BEFE(3) M LEQ) I ZEREG) Hedn RE®R) Jihd] fEAC(3) A #13)
FKk L) A #EA @) LIRS 80 7(3) X FE®R) WA BUBL2) NI DIR(2) i BEE) KB HZE)
KE = 4:18.26| /K ik 4:18.92| K F R/ 4:18.94| K7 — 4:20.93| % Fn 4:24.40| K7 4:25.03| /K 7 7§ 4:28.81 | H AN 4:33.02
I e (2) AN e 7R(3) R PIEER) NI D(2) S AR (3) KAk BRH(2) NI BE3) WA BUBL2)
4250 | AP AL TAX400mR | SR (2) A F20) g AE) B% Q) BA Z243) WE LEQ) TR Bi3@3) A FEHRG)
/NE BEE() il BE2) FEIN RREL(3) ghA ITWLER) )l =T 1—H(2) KA ABPLEB) MR <5H7(2) BRINE SEARE3)
L BY7e(3) PEF R (2) A #EA3) 4 RE®B) PEEF A ELR(2) s k) FoK E3EQ2) R EREG)
wAmn|  kFmEsTEsm [P 7T 1m55 hé:k fﬁﬂlﬁ(?,) 1m50 ﬁfi)rj Hx(2) Imd5 ({5 M O/7=(2) 1m40 t%'% ) Lm35| £ %(1) 1m20 %%ﬁ’mé(s) 1m20
=il KE L Sl ki) fEfn KL R
e | REA(@) 2m70|/MI1 B (2) 2m60 | F & FER(3) 2m20 Bl 2 HR(3) 2m00
44230 LSRR USSR e . KE— KE= A
shoan| ke |2 (2) 5m31(-1.5) [ KA JHRHI(2)  5mO7(+0.9)|MIA ALBk(2)  4m62(-0.4)|IRA EFEEB)  4m62(-1.9)|JF)I FEE(3) 4m55(0.0) | HA-JR #(3)  4m49(-2.0)|PrA Fikb(3)  4m46(+0.6)| TR BH3E@B)  4md5(+0.1)
SRl AKE WK KR KR E] AR Sl
iAosn| e = B AR AHRG3)  10m39(+3.4)|JED #(2) 10mO5(+0.5) [fRA FH(B3)  Im8S8(+L.8)[VEA £p(3)  9Im45(+0.9)| I BEE(3)  9Im27¢+2.2)|F+J& #H(3)  ImI8(+2.3)|AFH MR  8mIl(+t0.7)|FHH L2  8m84(+1.0)
KETL ZAF10m21(+1.8)| 7K KB IR R KFE = IK R B ZAFBOmI(+1.7)| IR Ef ZAZIm06(+1.6)| 1= Fil = Fn
afzap|  APHIK LT KB &0 9Im28| K% #E(3) Tm35|MEEE BIHG) 6m86|ZfE H#EQ) 6ma7| TR E(2) 6mO1| IR HEE3) 5m98|'E A BRPI(3) 5m87|IRA £FEEA) 5m61
(4.000kg) K% K% KF— KIS KPS PNDES KR B KR B
afosp|  ATHIE A & ME3) 29m98| IR HEHE(3) 19m15|7K#H A&me(2) 17m40 [#BF7 THEQD) 15m84| M 1 Hh#(2) 15m49 | #iIs BL4(2) 15m11 |55 ¥DHR(3) 14m21 [Bikk F20I(3) 12m39
(1.000kg) KF T pNEES ik ] RI K ok il KE 7K P
apazn| ATHIEKT v HER ELHE(3) 6m88
(4.000kg) el
LA2AE | AP HEK b oD G008) fﬁik HIRE) 32m21 /\% LE@3) 30mb52 ifi &% WIE) 30m09| &Hh £ FH(2) 26m82| [l S1F72(2) 26m71 +ﬁ# HEE (3) 26m08 m%:guﬂ HIZ=(2) 25m56 ;,%E “'@‘E(Z) 24m04
KFE— Sl KA — IR ok ] PNDES PNDES KR
R ) 340647 | fA T ZD0(2) 26731 TF I ER4B) 23825 |BIIR  EHI(3) 22271
B PO RE T K K AR ik
~ 17.66(+1.1)-1m30-7m47-27.35(-0.5) [18.59(+1.1)~1m30-5m75-29.24(-0.5) |[19.42(+1.1)~1m18-5m57-31.07(-0.5) |21.08(+1.1)-1m27-5m35-31.14(-0.5)
4m63(-2.1)-22m36-2:35.05 3m99(-0.3)-18m46-2:48.68 3m59(-0.7)-21m11-2:41.55 3m89(-1.1)-17m78-2:50.10
SRR KT HIR A TR KK 9T KF = 905 | K RE TR KPR 655 | K7 585 | KT — 52 4 |k [ 43R HABEKR 355

JLBI GR:R 4306k DNFURFAFERE NM:FgkiaL




BX& 5% (96 LIE)

SHIFEKFHERESERELFRAES
SM3FE4H23H(%£)~25H(A)

<B¥>
AR #E of 104k 114 124
H AC@ 11.54| K% FIREA)
4/24 100m §§ - (_1_,‘; b
R (3 23.63(-3.2
4725 | 200m g ¥$23.58(-3.9)
B8 80O 2:05.42
4/24 800m KR
BAR EA(3) 4:23.88
4/23 | 1500m 1
4/25| 5000m m;_: K#(2) 16:46.56
KE—
=k MG 19.15
4/25| 110mH payua 220
WA RAG) 1:43.14| (B 44&L)
4/24 | 400mH KEE
ER RREB3) 11:05.96 FF O #3¥(2) 11:23.20 {8 —#(@3) 11:25.51 |{#E XxT&(3) 11:40.04
KFE#/ % 46.23
TH E(2)
4/23 | 4x100mR |EH #EHQ)
AL BX(@3)
Bl BK@3)
KFERH 3:45.32
AR BQ
4_/2254 4x400mR JII® (1)
BE ZH@Q)
AR B10G)
mHE EKiE?2) 1m55| (B &74L)
4/24 | EEH BT
ER 2(2) 5m65(+1.3)| F E724(2) 5m52(+4.5)
v2s | EEE | mm 8K ABAEL
— Fh BF@2 11m22
4/25 | =B BEET 128
HIR #E—(2) Tm24|E=F Q)
4/24 | FaRE ?*“ KET
4/25 | M8 (Ba%L)
Bl X#H©@ 27m31|AH E(@Q) 24m09| (B & 4L)
y24| OB i ET KEES
<EZF>
AR i =] ofi 104
WER REQ) 1:06.81 A /NMEF(2) 1:07.76
4/23 400m K/ pigia
BB/ HH@B) 5:27.09|#AR ¥TO) 5:31.97
/28| 1500m |km— KE ¥5:25.64
MR SEFH(©2) 11:46.35| AR ¥HQ®) 11:48.0
4/25| 3000m KR AP
Exk RXQ2)
4/23 | 100mH *ﬁﬁ _
4/23 | 5000mW (kL) (Z&4L)
=g
B E#Q)
4/23 | 4% 100mR At /NEF(2)
A U2
AI RE(3)
4/23 | EEH (BaEL)
4/23 | #EH (BaEL)
a25| =g |(EHEL)
4/25 | M8 (BaEL)
424 BYR BA4R FFI(3) 20m18

K3




